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2(a)

2(b)

2(c)

3

3(b)

3(c)

|
\
1

|

diameter was 4:1. The cost for the tank design as originally
submitted was estimated to be Rs. 9,00,000. What are the
optimum tank dimensions, if the volume remains the same
as the original design? What total savings may be expected
through the redesign? i ;i i
1f you are CEO of a company, discuss factors which you ,
will consider while deciding price of your product in the
market. _

|
What amount of money saved today will yield Rs. 40,000/~
in third year and Rs. 55,000/~ after five year at the 12% rate
of interest compounded ub__Eml:%.

A company has to replace a machine in the production line
after 11 years at the cost of Rs. 60,00,000/-. It plans to
deposit an equal wEoE:ME the end of every year for the
next 11 years at an interest rate of 11 per cent which is|
compounded annually. m_wa the equivalent amount that
must be deposited at the end of every year for next 11
years. m " 4
Discuss the nature of soft drink market in India. What
incentive may be given by the Government to encourage
Indian producer? '
Below is given a demand equation;

Q =-6P +4000 M : :
Calculate price elasticity|of demand if price is (i) Rs. 4 (i)
Rs 10 and (iii) Rs. 15. Is the demand at these prices elastic
or inelastic? i |
The market supply and demand functions for deluxe pizzas

in a small town are _m?n: by

Demand Q =100—-3.5P

Supply Q=15+1.5P

i. Determine the equilibrium price and quantity.
ii. If the city ﬂoﬁ::dna levies a tax of Rs.

3.00/pizza on the pizza parlor, determine th

_

(3]

|

new equilibrium price and quantity of pizza

4(a) What do you mean by Production Process? How it has
changed in the era of Information and Communication
Technology

4(b) A Company wants to deposit money to create an R&D
reserve. The company will get 15,00,000 every year for
next 15 years for R&D. The reserve will grow at the rate of
12 per cent annually. Find out the single payment which
should be made now. !

i |

5(a) Environmental problems are macro Jevel problems. Discuss
the role of appropriate technology in this regard. Also
suggest framework to impose taxes 1o control

environmental hazards. __

5() A.firm, Prime Manufacturing is planning to mxumsnm its
production operation. It has identified three anZ..:mm
which are technologically capable to serve the v:_ﬁvmm.
The initial outlay and annual revenues with each of jthe
machines are given below: : _

Initial Outlay | Annual Life I(in
(Rs.) revenue years) __

” ; _
Machine | Rs. 5,45,000 [Rs.2,50,000 |15 |
Machine Il |Rs. 6,14,000 | Rs. 3,30,000 |12 |
Machine lll Rs. 6,00,900 |Rs.3,50,000 |10 i

M |

If the rate of interest is 12%, which machine the
company should opt for? Find out the result by Present
‘Worth method.



